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1. [8 points] The graph of the derivative g′(x) of a function g(x) with domain 0 < x < 9 is shown
below.
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a. [2 points] On which interval(s) is the function

g(x) constant?

Solution: Approximately on the interval
(6.2, 8)

b. [2 points] On which interval(s) is the function
g(x) linear?

Solution: (0, 2] and approximately on the
interval (6.2, 8)

c. [2 points] On which interval(s) is the function g(x) decreasing?

Solution: Approximately on the interval (2.25, 3.75)

d. [2 points] At which value(s) of 0 < x < 9 is the function g(x) increasing the fastest?

Solution: x = 5

© 2018 Univ. of Michigan Dept. of Mathematics (Creative Commons
  By−NC−SA license) Winter, 2018 Math 115 Exam 1 Problem 1 Solution


	Exam1W18Solutions
	s9
	Exam1W18Solutions

